CONTINUAL ASSESSMENT 1 (2015)
PRIMARY 3

MATHEMATICS

Tuesday 3 March 2015

INSTRUCTIONS TO PUPILS

DO NOT TURN OVER THE PAGES UNTIL YOU ARE TOLD TO DO SO

Follow all instructions carefully.

There are 23 questions. in this booklet.

1 hour 15 min

Answer ALL questions. |
. Possible Marks
Section | ~yarks | Obtained
A 20
Name : q )
| B 18
Class : 3.( )
C 12
Parent’s Signature: Total 50

This question paper consists of 10 printed pages. (Inclusive of cover page) -




Section )\

Questions 1 to 10 carry 2 marks each.
For each question, four options are given. One of them is the correct answer.

Make your choice and writes its number (1, 2, 3 or 4) in the brackets provided.
' (20 marks)

1. Which digit in 5 612 is in the hundreds place?

1)
2)
3)
4)

. AN -

2. Find the sum of 1 060 and 165.

1) 1125
2) 1225
3) 2610
4) 2710

3.  The difference between 5 079 and 1 740 is

1) 3339
2) 3793
3) 4339
4) 6819
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4 24 + 4= + 4.
What is the missing number?

1) 6

2) 2
°3) 16

4 20

5. Which of the following has the same value as 7 605?

1) 76+5

2) 700+600+5

3) 7000+60+5

4) 7000+600+5

6. - 700 = 3 590.

What is the missing number?

1) 2890
2) 3290
3) 3890
4) 4290
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1)
2)
3)
4)

8. The difference between two numbers is 4 121.

The sum of 352 and

832
4000
4704
7872

is 4 352.

The smaller number is 210.
What is the greater number?

1)
2)
3)

4).

2021
391
4 331
6 221

9. What is the time 30 minutes after 4 o’clock in the afterncon? -

1)
2)
3)
4)

3.30a.m.

4.30 a.m.
3.30 p.m.

4.30 p.m.
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10.

,.1)

What fraction of this figure is shaded?
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U
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Section B -

Questions 11 to 19 camry 2 marks each. Show your working clearly and write
your answers in the boxes provided. For questions which require units, give your
answers in the units stated. ,

(18 marks)

11.  Arrange the following numbers in order beginning with-the gr 4

7825 - 7285 | 7528 8752

Greatest

12.  Use four of the cards to form the greatest 4-digit number below-between
-1 000 and 4 000.
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13.  Subtract 369 from 1 400.

14. David has 2478 stamps. 1809 of them are Singapore stamps and the rest
are Malaysian stamps. How many Malaysian stamps does David have?

15.  Look at the number below.

3220, 3022, 3202, 3062

Find the sum of the greatest number and the smallest number.

16.  Mr Ali gave 643 chicken pies to Mr Wong. In the end, he had 6 143
chicken pies left. How many chicken pi_es did he have at first?
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17. Find the missing digits in the boxes represented by A and B.
2 7 3 8

— 1 86}A}l7 ..

18.  Which of the following fractions is the greatest?

4 3 3 S
8’ 8' 10 10

19.  Sirius planted 7 beans seeds.
Jonas planted 4 times as many bean seeds as Sirius.

How many beans did Jonas plant?
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Section C

Questions 20 to 23 carry 3 marks each. For each question, show your working
clearly as marks will be given for working and relevant statements.
) (12 marks)

- - " - -

| 20. Daniel bought a printer and headphone in a shop. The printer costs $532
-and a headphone costs:$255. After paying for the two nems Daniel had
$20 left.* How much money did he have at first?

21. There were 3 535 adults in the concert hall. There were 585 fewer
children than aduilts in the concert hall.
How many people were there altogether?
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22. There were some passengers on the train at Newton MRT station. Next, ~
at Orchard MRT station, 300 passengers got onto the train. Later at
Somerset MRT station, 250 passengers came out from the frain. Finally, -
at City Hall MRT station, all 1200 passengers came out from the ftrain.
How many passengers were on the train at Newton-MRT station? @~ =

23. Linus bought a pen, a bag and a pair of shoes. The bag cost $50 more
than the pen. The pair of shoes cost $80 more than the pen. He spent a
total of $151 for all the items.

What is the cost of the pen?

End of Paper
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EXAM PAPER 2015

LEVEL : PRIMARY3

SCHOOL : ANGLO CHINESE SCHOOL (JUNIOR)
SUBJECT : MATHEMATICS

TERM : CA1 _
Q1 Q2] 3 | a4 | a5 T a6 1 a7 | a8 | Qo | Qo
4 | 2 | 1 2 |- 4 | a 2 3 4 4

Q11. 8752 (greatest), 7825, 7528, 7285

Q12.3964 Q13.1031 Q14.669  Q15.6242 Q16.6786
Q17.A=4 B=0 Q18. %4 Q19.28=> 7x4=28

Q20. $807> 532=255, 787+20=807

Q21. 6480=>» 3535-586=2950, 2950x2=5‘900, 5900+585=6480
Q22. 1150 passengers =»1200+250=1450, 1450-300=1150

Q23. $7 =>50x2=100,100+30=130, 151-130=21, 21:3=7

THE END
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